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BRO | BEQ | BRO BsE BT BT

JAL 8/16/2024 8/31/2024 JL239,JL234% IR< 28 8,800

JAL 9/1/2024 9/30/2024 2F 8,800

JAL 8/16/2024 8/31/2024 JL255,JL264% BR< £ 8 8,800

JAL 9/1/2024 9/30/2024 JL255,JL264% FR< £ 8 8,800

JAL 8/16/2024 8/31/2024 JL297,JL290,JL294% {28 8,800

FR=LLOFE JAL 9/1/2024 9/30/2024 JL294Z B2 E 8,800

RR=1E8 JAL 8/16/2024 8/31/2024 JLASSEIRCE R 8,800

JAL 9/1/2024 9/30/2024 JL4SSE RS2 E 8,800

OEHRELEAT HHBENETHRIUTOREYET B,
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JAL 8/16/2024 8/31/2024 JL231,JL232,JL234% <28 9,900

JAL 9/1/2024 9/30/2024 JL241,JL234% <2 R 9,900

JAL 8/16/2024 8/31/2024 JL255,J1.257,J1.259,JL.254,JL.258 JL264 % BR< 2 E 9,900

JAL 9/1/2024 9/30/2024 JL255,JL.262,JL264% BR< 28 9,900

JAL 8/16/2024 8/31/2024 JL295,J1.296 9,900

ER=ILOFH JAL 9/1/2024 9/30/2024 JL295,J1.292,JL.296 9,900

RR=1E8 JAL 8/16/2024 8/31/2024 JL455,JL452,JL.454,JL456,JL460% FR< £ & 9,900

JAL 9/1/2024 9/30/2024 JL455,JL459,JL462, JL464 % BR< £ {8 9,900
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(B) X 01UMEARUTFEIVIET)=(C)
(B)+(C)=D
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(A)+1.1x08 UM TFEIY L 1F) = (B)
(B) X 01N R FHIYIET)=(C)
(B)+(C)=D

NEFEREIEBAT B8O

(A) 1.1 x 09 UM TFEIY £ 1F) = (B)
(B) X 01N R FHIYIET)=(C)
(B)+(C)=D
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